ISOTONIC SELECTION WITH RESPECT TO A CONTROL: A BAYESIAN APPROACH

by

TaChen Liang Purdue University

S. Panchapakesan Southern Illinois University

Technical Report #87-24

Department of Statistics Purdue University

1987

ISOTONIC SELECTION WITH RESPECT TO A CONTROL: A BAYESIAN APPROACH

TaChen Liang and
Department of Statistics
Purdue University
West Lafayette, Indiana 47907

S. Panchapakesan

Department of Mathematics Southern Illinois University Carbondale, Illinois 62901

ABSTRACT

Let $\pi_1, \pi_2, \dots, \pi_k$ be k experimental populations and π_0 is a standard or a control population. The π_i are characterized by the associated distribution functions F_{θ_i} , $i=0,1,\dots,k$. The θ_i of the experimental populations are unknown; however, it is known that $\theta_1 \leq \theta_2 \leq \dots \leq \theta_k$. The value of θ_0 may or may not be known. The goal is to select all the experimental populations that are superior to π_0 (i.e. all π_i for which $\theta_i \geq \theta_0$). Under a fairly general loss function a Bayes rule with isotonic property (i.e. if π_i is selected, then any π_j for j>i is also selected) is derived in a form convenient for applications. Two special cases of the loss function are discussed. One of these loss functions is used to discuss applications to discrete (with Poisson example) as well as continuous exponential class of distributions.

Key Words and Phrases: subset selection, comparison with a control, isotonic property, Bayes rule, discrete and continuous exponential families.

^{*}This research was supported in part by the Office of Naval Research Contract NOO014-84-C-0167 at Purdue University and NSF Grant DMS-8606964. Reproduction in whole or in part is permitted for any purpose of the United States Government.

1. INTRODUCTION

Let $\pi_1, \pi_2, \dots, \pi_k$ denote k experimental populations where π_i has the associated distribution $F_{\theta_{i}}$, i = 1,2,...,k. parameters θ_i are unknown; however, it is known that $\theta_1 \leq \theta_2$ $\leq \cdots \leq \theta_{\nu}$. This is typical, for example, in experiments involving different dose levels of a drug where the treatment effects will have a known ordering. These k experimental populations are compared with the population π_{\cap} having the associated distribution function F_{θ_n} . Two cases arise: (1) the case of a known standard θ_0 , and (2) the case of an unknown control θ_0 . Any experimental population π_i is defined to be superior to π_0 if $\theta_i \ge \theta_0$ and inferior to π_0 otherwise. Our goal is to select all populations that are superior to π_0 . Since the ordering among the experimental populations is known, it is reasonable to require a selection procedure to have the property: If π_i is selected, then any π_i with j > i is also selected. is the so-called isotonic property. If we were to propose rules rather heuristically, one would propose rules based on isotonic estimators of $\theta_1, \dots, \theta_k$. Such procedures have been investigated in the recent years by Gupta and Yang (1984) in the case of normal means (common variance σ^2 may be known or unknown), by Gupta and Huang (1984) in the case of binomial populations with success probabilities θ_{i} , and by Gupta and Leu (1986) in the case of two-parameter exponential populations with location parameters (guarantee times) θ_{i} and a common (known or unknown) scale parameter. Huang (1984) has considered the problem in a nonparametric setup. All these papers consider both cases of a known standard and an unknown control.

In the present paper, our interest is to derive a Bayes rule having the isotonic property for selecting the populations superior to π_0 . Under a fairly general loss function the Bayes rule is derived in Section 2 in a form convenient for applications. Two special cases of the loss function are discussed in Section 3. This is followed by discussions of the results under one of the special loss functions to the cases of discrete as well as continuous exponential classes of distributions.

2. BAYES PROCEDURE

Let $\Omega_1 = \{\emptyset \mid \theta_0 \leq \theta_1\}$, $\Omega_i = \{\emptyset \mid \theta_{i-1} < \theta_0 \leq \theta_i\}$, $i = 2, 3, \ldots, k$, k+1 $\Omega_{k+1} = \{\emptyset \mid \theta_k < \theta_0\}$, and $\Omega = \bigcup_{i=1}^{N} \Omega_i$. Since $\Pr\{\theta_1 \leq \theta_2 \leq \cdots \leq \theta_k\} = 1$, we restrict our attention to the "isotonic" action space $A = \{1, 2, \ldots, k+1\}$. For $1 \leq i \leq k$, action i corresponds to selecting populations π_j , $i \leq j \leq k$, as superior to π_0 , and excluding the remaining ones as inferior to π_0 . Action k+1 corresponds to declaring all the k populations as inferior.

For $\theta \in \Omega_m$, $1 \le m \le k+1$, and any action a, $1 \le a \le k+1$, we define the loss function $L(\theta,a)$ by

$$L(\theta, a) = \begin{cases} \sum_{j=0}^{m-1} L_{m,j}^{(1)}(\theta_0 - \theta_1) & \text{if } a < m, \\ \sum_{j=0}^{m-1} L_{m,j}^{(2)}(\theta_j - \theta_0) & \text{if } a > m, \\ j = m, \end{cases}$$
(1)

where

$$L_{m,i}^{(1)}(y) \begin{cases} > 0 \text{ and nonincreasing in i for i < m,} \\ = 0 \text{ for i } \ge m, \end{cases}$$

$$L_{m,j}^{(2)}(y) \begin{cases} = 0 \text{ for j < m,} \\ > 0 \text{ and nondecreasing in j for j } \ge m \end{cases}$$

and $L_{m,\ell}^{(i)}(y)$, i = 1,2, are nondecreasing in y.

We will consider here only the case of known θ_0 . The unknown θ_0 case is analogous and involves only straightforward modifications. Let $X = (X_1, X_2, \dots, X_k)$ be the sample observation belonging to the sample space \mathfrak{X} . A decision rule $\xi = (\delta_1, \delta_2, \dots, \delta_{k+1}) \text{ is a measurable mapping from } \mathfrak{X} \text{ to } [0,1]^{k+1}$ such that $\sum_{i=1}^{k+1} \delta_i(x) = 1$ for each $x \in \mathfrak{X}$. The value of $\delta_i(x)$ is the probability of taking action i given X = x.

Let $f(x|\theta)$ be the joint probability density function (p.d.f.) of X given θ , and let $g(\theta)$ denote the prior distribution of θ over Ω . Let

$$f(x) = \int f(x|\theta)g(\theta)d\theta$$
 (2)

and

$$g(\hat{g}|\hat{x}) = f(\hat{x}|\hat{g})g(\hat{g})/f(\hat{x}). \tag{3}$$

Then f(x) is the marginal joint p.d.f. of X and g(x) is the posterior p.d.f. of x.

For any decision rule δ , the associated Bayes risk $r(\delta,g)$ is given by

$$r(\delta,g) = \sum_{m=1}^{k+1} \int_{\Omega_m} \int_{\alpha}^{k+1} \sum_{a=1}^{k+1} \delta_a(x) L(\theta,a) f(x|\theta) g(\theta) dx d\theta.$$
 (4)

By the usual interchanging of summations and integrals (justified under suitable regularity conditions), letting

$$R(a|x) = \sum_{m=1}^{k+1} \int_{\Omega_m} L(\theta, a)g(\theta|x)d\theta, a = 1, 2, ..., k+1, (5)$$

and using (3), we can rewrite (4) as

$$r(\delta, g) = \sum_{a=1}^{k+1} \int_{a} \delta_{a}(x)R(a|x)f(x)dx.$$
 (6)

It now follows that $\delta = (\delta_1, \delta_2, \dots, \delta_{k+1})$ is a Bayes rule if $\sum_{a \in A(x)} \delta_a(x) = 1, \text{ where } a \in A(x)$

$$A(x) = \{a | R(a | x) = min R(a' | x)\}.$$
 (7)
 $1 \le a' \le k+1$

In order to obtain more insight for implementation of this Bayes rule, let

$$D(a|x) = R(a+1|x) - R(a|x), a = 1,2,...,k.$$
 (8)

Defining (any sum) $\Sigma \equiv 0$ for s < r, we write (5) as m=r

$$R(a|x) = \sum_{m=1}^{a-1} \int_{\Omega_m} L(\theta, a)g(\theta|x)d\theta + \sum_{m=a+1}^{k+1} \int_{\Omega_m} L(\theta, a)g(\theta|x)d\theta.$$
 (9)

Using (1) and (9) in (8), it is easy to see that

$$D(a|x) = \sum_{m=1}^{a} \int_{\Omega_{m}} L_{m,a}^{(2)}(\theta_{a} - \theta_{0})g(\theta|x)d\theta$$

$$- \sum_{m=a+1}^{k+1} \int_{\Omega_{m}} L_{m,a}^{(1)}(\theta_{0} - \theta_{a})g(\theta|x)d\theta.$$
(10)

<u>Lemma 2.1.</u> For any given $x \in \mathfrak{A}$, D(a|x) is nondecreasing in a. <u>Proof.</u> For a = 1, 2, ..., k, by using (10), we obtain

$$D(a+1|\underline{x}) - D(a|\underline{x})$$

$$= \sum_{m=1}^{a} \int_{\Omega_{m}} [L_{m,a+1}^{(2)}(\theta_{a+1} - \theta_{0}) - L_{m,a}^{(2)}(\theta_{a} - \theta_{0})]g(\underline{\theta}|\underline{x})d\underline{\theta}$$

$$+ \int_{a+1,a+1} (\theta_{a+1} - \theta_{0})g(\underline{\theta}|\underline{x})d\underline{\theta}$$

$$+ \int_{m=a+2} \int_{\Omega_{m}} [L_{m,a}^{(1)}(\theta_{0} - \theta_{a}) - L_{m,a+1}^{(1)}(\theta_{0} - \theta_{a+1})]g(\underline{\theta}|\underline{x})d\underline{\theta}$$

$$+ \int_{a+1,a} (\theta_{0} - \theta_{a})g(\underline{\theta}|\underline{x})d\underline{\theta}. \qquad (11)$$

For $m \leq a$,

$$L_{m,a+1}^{(2)}(\theta_{a+1}-\theta_{0}) - L_{m,a}^{(2)}(\theta_{a}-\theta_{0})$$

$$= [L_{m,a+1}^{(2)}(\theta_{a+1}-\theta_{0}) - L_{m,a}^{(2)}(\theta_{a+1}-\theta_{0})]$$

$$+ [L_{m,a}^{(2)}(\theta_{a+1}-\theta_{0}) - L_{m,a}^{(2)}(\theta_{a}-\theta_{0})]$$

$$\geq 0,$$

the differences inside the brackets being nonnegative by virtue of the fact that θ_{a+1} - $\theta_0 \ge \theta_a$ - $\theta_0 \ge 0$ for m \le a, and of the properties of the loss component.

By a similar reasoning, we can see that

$$L_{m,a}^{(1)}(\theta_0-\theta_a) - L_{m,a+1}^{(1)}(\theta_0-\theta_{a+1}) \ge 0 \text{ for } m \ge a+2.$$

Consequently, $D(a+1|x) - D(a|x) \ge 0$ for a = 1, 2, ..., k. This completes the proof of the lemma.

We can use Lemma 1 and obtain a more convenient form for our Bayes rule. Let $B(x) = \{a \mid D(a \mid x) = 0\}$. If $B(x) \neq \emptyset$, let $a^* = \max_{a \in B(x)} a$ and $A^*(x) = B(x) \cup \{a^* + 1\}$. Then the Bayes rule δ

can be expressed as follows:

If B(x) is not empty, randomize your decision over the set $A^*(x)$. If B(x) is vacuous, then choose action b where b is the smallest a for which D(a|x) > 0. If such an integer b does not exist, then choose action k+1.

Remark 1. Because of the monotonicity of D(a|x) in a, the set B(x) is either vacuous or it consists of consecutive members of the set $\{1,2,\ldots,k\}$. We can define a nonrandomized rule, by taking the action corresponding to the smallest member of nonempty B(x).

3. TWO SPECIAL LOSS FUNCTIONS

We consider two special cases of the loss function L(g,a) given by (1):

$$L_{1}(\hat{\theta}, a) = \begin{cases} \sum_{j=0}^{m-1} (\theta_{0} - \theta_{j}) & \text{if } a < m, \\ a - 1 & \text{if } a > m, \\ j = m & \text{o} \end{cases}$$
 (12)

and

$$L_{2}(\hat{g},a) = \begin{cases} (m-a)c_{1} & \text{if } a < m, \\ (a-m)c_{2} & \text{if } a > m, \\ 0 & \text{if } a = m, \end{cases}$$
 (13)

where c_1 and c_2 are known positive constants.

For the loss function $L_1(\frac{\theta}{\kappa},a)$, rewriting (10) we get

$$\begin{split} \mathsf{D}(\mathsf{a} | \underline{\mathsf{x}}) &= \sum_{\mathsf{m}=1}^{\mathsf{a}} \int\limits_{\Omega_{\mathsf{m}}} (\theta_{\mathsf{a}} - \theta_{\mathsf{O}}) \mathsf{g}(\underline{\theta} | \underline{\mathsf{x}}) \mathsf{d}\underline{\theta} - \sum_{\mathsf{m}=\mathsf{a}+1}^{\mathsf{k}+1} \int\limits_{\Omega_{\mathsf{m}}} (\theta_{\mathsf{O}} - \theta_{\mathsf{a}}) \mathsf{g}(\underline{\theta} | \underline{\mathsf{x}}) \mathsf{d}\underline{\theta} \\ &= \sum\limits_{\mathsf{m}=1}^{\mathsf{k}+1} \int\limits_{\Omega_{\mathsf{m}}} (\theta_{\mathsf{a}} - \theta_{\mathsf{O}}) \mathsf{g}(\underline{\theta} | \underline{\mathsf{x}}) \mathsf{d}\underline{\theta} \\ &= \int\limits_{\Omega} (\theta_{\mathsf{a}} - \theta_{\mathsf{O}}) \mathsf{g}(\underline{\theta} | \underline{\mathsf{x}}) \mathsf{d}\underline{\theta} \\ &= \mathsf{E}[\theta_{\mathsf{a}} | \underline{\mathsf{x}}] - \theta_{\mathsf{O}}. \end{split}$$

So $E[\theta_{a+1}|x] - E[\theta_a|x] = D(a+1|x) - D(a|x) \ge 0$. The set B(x) associated with the Bayes rule is: $B(x) = \{a|E[\theta_a|x] = \theta_0\}$. A nonrandomized version of the rule is: Select π_i as superior to π_0 if and only if $E[\theta_i|x] \ge \theta_0$. Thus, to obtain the Bayes rule, we need only to evaluate the posterior means $E[\theta_i|x]$, $i = 1, 2, \ldots, k$.

As for the loss function $L_2(\theta,a)$, we get

$$\begin{split} \mathsf{D}(\mathsf{a} | \mathsf{x}) &= \sum_{\mathsf{m}=1}^{\mathsf{a}} \int_{\Omega_{\mathsf{m}}} \mathsf{c}_{2} \mathsf{g}(\boldsymbol{\theta} | \mathsf{x}) \mathsf{d} \boldsymbol{\theta} - \sum_{\mathsf{m}=\mathsf{a}+1}^{\mathsf{k}+1} \int_{\Omega_{\mathsf{m}}} \mathsf{c}_{1} \mathsf{g}(\boldsymbol{\theta} | \mathsf{x}) \mathsf{d} \boldsymbol{\theta} \\ &= \sum_{\mathsf{m}=1}^{\mathsf{k}+1} \int_{\Omega_{\mathsf{m}}} \mathsf{c}_{2} \mathsf{g}(\boldsymbol{\theta} | \mathsf{x}) \mathsf{d} \boldsymbol{\theta} - \sum_{\mathsf{m}=\mathsf{a}+1}^{\mathsf{k}+1} \int_{\Omega_{\mathsf{m}}} (\mathsf{c}_{1} + \mathsf{c}_{2}) \mathsf{g}(\boldsymbol{\theta} | \mathsf{x}) \mathsf{d} \boldsymbol{\theta} \\ &= \mathsf{c}_{2} - (\mathsf{c}_{1} + \mathsf{c}_{2}) \int_{\Omega_{\mathsf{m}}} \mathsf{g}(\boldsymbol{\theta} | \mathsf{x}) \mathsf{d} \boldsymbol{\theta}, \end{split}$$

 $\begin{array}{ccc} & & & & & \\ \text{where } \Omega' & = & \bigcup & \Omega_{m}. & \text{Thus} \\ & & & & \\ & & & \\ \text{m=a+1} & & & \end{array}$

$$D(a|x) \ge 0 \iff \int_{\Omega'} g(\theta|x)d\theta \le \frac{c_1}{c_1 + c_2}.$$

4. TWO CLASSES OF DENSITY FUNCTIONS

We consider two exponential classes of density functions $f(x|\theta)$, one discrete and the other continuous. Let $f_i(x|\theta_i)$ denote the conditional p.d.f. of X_i given θ_i , and let $f_i(x)$ denote the marginal p.d.f. of X_i , i.e. $f_i(x) = \int f_i(x|\theta_i)g_i(\theta_i)d\theta_i$, where $g_i(\theta_i)$ denotes the prior marginal p.d.f. of θ_i . We assume that, conditional on θ , the X_i are independently distributed. Thus $f(x|\theta) = \prod_{i=1}^k f_i(x_i|\theta_i)$.

First, we consider the discrete class of densities of the form

$$f_{i}(x|\theta_{i}) = \begin{cases} \theta_{i}^{x}h(x)\beta(\theta_{i}), & x = 0,1,..., 0 \leq \theta_{i} < d, \\ 0 & \text{otherwise,} \end{cases}$$
(14)

where h(x) > 0 for all x, and d may be finite or infinite.

Under the loss function $L_1(\theta,a)$ in (12), a straightforward computation, for $X_a=x_a$, gives

$$E[\theta_{a}|x_{a}] = \frac{h(x_{a})f_{a}(x_{a}+1)}{h(x_{a}+1)f_{a}(x_{a})},$$
 (15)

which is the posterior mean of θ_a given $X_a = x_a$. Considering the posterior mean of θ_a given $X_a = x_a$, we get

$$E[\theta_{\mathbf{a}} | \mathbf{X} = \mathbf{x}] = \frac{\int_{\Omega}^{\mathbf{k}} \theta_{\mathbf{a}}^{\mathbf{x}} [\theta_{\mathbf{i}}^{\mathbf{x}}] h(\mathbf{x}_{\mathbf{i}}) \beta(\theta_{\mathbf{i}})] g(\mathbf{g}) d\mathbf{g}}{f(\mathbf{x})}$$

$$= \frac{h(\mathbf{x}_{\mathbf{a}}) f(\mathbf{x}(\mathbf{a}))}{h(\mathbf{x}_{\mathbf{a}}+1) f(\mathbf{x})}, \tag{16}$$

where $x(a) = (x_1, ..., x_{a-1}, x_a+1, x_{a+1}, ..., x_k)$. Now, from (15) and (16), we obtain

$$E[\theta_{\mathbf{a}}|X = X] = \frac{f_{\mathbf{a}}(x_{\mathbf{a}})f(X(\mathbf{a}))}{f_{\mathbf{a}}(x_{\mathbf{a}}+1)f(X)}E[\theta_{\mathbf{a}}|x_{\mathbf{a}}]. \tag{17}$$

Thus, the "isotonic" posterior mean $E[\theta_a | X = x]$ can be viewed as a weighted result of the posterior mean $E[\theta_a | x_a]$ with weight $\frac{f_a(x_a)f(x(a))}{f_a(x_a+1)f(x)}$. Hence, for the Bayes rule, it suffices to compute $E[\theta_a | x_a]$, $f_a(x_a)$, and f(x).

As an illustration of the above, we consider the following example of Poisson populations.

Example. For Poisson populations,

$$f_a(x|\theta_a) = e^{-\theta_a} \frac{\theta_a^x}{x!}, \quad x = 0, 1, ..., a = 1, 2, ..., k.$$

It is assumed that $\theta_1, \theta_2, \ldots, \theta_k$ have a joint distribution identical to that of the order statistics from k independent gamma random variables, each having scale parameter α and shape parameter m. In other words,

$$g(\theta) = \begin{cases} k! \frac{\pi}{\pi} \frac{\alpha^{m}}{f(m)} \theta_{i}^{m-1} e^{-\alpha \theta_{i}}, & \theta_{1} \leq \theta_{2} \leq \cdots \leq \theta_{k}, \\ 0, & \text{otherwise.} \end{cases}$$

Then

$$g_{a}(\theta_{a}) = \frac{k!}{(a-1)!(k-a)!}H^{a-1}(\theta_{a})[1-H(\theta_{a})]^{k-1}h(\theta_{a}),$$

$$a = 1, 2, ..., k,$$

where

$$h(\theta) = \frac{\alpha^{m}}{\Gamma(m)} \theta^{m-1} e^{-\alpha \theta}, \quad \theta > 0,$$

and

$$H(\theta) = \int_{0}^{\theta} h(y) dy.$$

Thus

$$f_a(x_a) = \int_0^\infty f_a(x_a|\theta_a)g_a(\theta_a)d\theta_a$$

$$E[\theta_{a}|x_{a}] = \frac{\int_{0}^{\infty} \theta f_{a}(x_{a}|\theta)g_{a}(\theta)d\theta}{f_{a}(x_{a})},$$

and

$$f(x) = \int_{\Omega} k! \frac{\pi}{\pi} \left[\frac{\alpha^{m}}{\Gamma(m)x_{i}!} \theta_{i}^{x_{i}+m-1} e^{-\theta_{i}(1+\alpha)} \right] d\theta_{i}.$$

In general, it is hard to evaluate the function f(x). However, if m is a positive integer, one could compute it by obtaining a recursive formula.

Next, we consider the class of densities

$$f_{i}(x|\theta_{i}) = \begin{cases} e^{-\theta_{i}x} & \text{otherwise,} \\ \theta_{i}(x|\theta_{i}) & \text{otherwise,} \end{cases}$$
(18)

where a may be finite or infinite, and h(x) > 0 for x > a. Let $g_i(\theta_i)$ denote the marginal p.d.f. of θ_i . Then

$$f_{i}(x) = \int e^{-x\theta} h(x) \beta(\theta_{i}) g_{i}(\theta_{i}) d\theta_{i}.$$
 (19)

Dividing both sides of (19) by h(x) and then differentiating with respect to x, we get

$$\int \theta_{i} e^{-x\theta_{i}} \beta(\theta_{i}) g_{i}(\theta_{i}) d\theta_{i} = -\frac{d}{dx} \frac{f_{i}(x)}{h(x)}. \tag{20}$$

Now, using (19) and (20), we can write

$$E[\theta_{i}|x_{i}] = \frac{\int \theta_{i}e^{-x_{i}\theta_{i}}\beta(\theta_{i})g_{i}(\theta_{i})d\theta_{i}}{\int e^{-x_{i}\theta_{i}}\beta(\theta_{i})g_{i}(\theta_{i})d\theta_{i}}$$
$$= \frac{h'(x_{i})}{h(x_{i})} - \frac{f'_{i}(x_{i})}{f_{i}(x_{i})}, \qquad (21)$$

where h'(x) = (d/dx)h(x). Further,

$$E[\theta_{\mathbf{a}}|\mathbf{x}] = \frac{1}{f(\mathbf{x})} \int_{\Omega} \theta_{\mathbf{a}} f(\mathbf{x}|\mathbf{x}) g(\mathbf{x}) d\mathbf{x}, \qquad (22)$$

where

$$f(x) = \int_{\Omega} f(x|\theta)g(\theta)d\theta.$$
 (23)

As in the case of $E[\theta_i | x_i]$, we have

$$E[\theta_{a}|x] = \frac{\frac{1}{h(x_{a})} \int_{\Omega} \theta_{a} f(x|\theta) g(\theta) d\theta}{f(x)/h(x_{a})}$$

$$= -\frac{d}{dx_{a}} \left[\frac{f(x)}{h(x_{a})} \right] / \frac{f(x)}{h(x_{a})}. \tag{24}$$

Carrying out the differentiation in (24) and using (21), we obtain

$$E[\theta_{\mathbf{a}}|\mathbf{x}] = \frac{\mathbf{f}'(\mathbf{x}_{\mathbf{a}})}{\mathbf{f}(\mathbf{x}_{\mathbf{a}})} - \frac{\mathbf{f}_{(\mathbf{a})}(\mathbf{x})}{\mathbf{f}(\mathbf{x})} + E[\theta_{\mathbf{a}}|\mathbf{x}_{\mathbf{a}}]$$
(25)

where $f_{(a)}(x) = (d/dx_a)f(x)$. Thus, by evaluating the quantities on the right-hand side of (25), we can implement the Bayes rule using the loss function $L_1(\theta,a)$ in (12).

REFERENCES

- Gupta, S. S. and Huang, W.-T. (1984). On isotonic rules for binomial populations better than a standard. <u>Developments in Statistics and Its Applications</u>, eds. A. M. Abuammoh, E. A. Ali, E. A. El-Neweihi, and M. A. El-Osh, King Saud University Library, Riyadh, Saudi Arabia, 89-112.
- Gupta, S. S. and Leu, L.-Y. (1986). Isotonic procedures for selecting populations better than a standard: two-parameter exponential distributions. Reliability and Quality Control, ed. A. P. Basu, Elsevier Science Publishers B. V. (North-Holland), Amsterdam, 167-183.
- Gupta, S. S. and Yang, H.-M. (1984). Isotonic procedures for selecting populations better than a control under ordering prior. Statistics: Applications and New Directions,

 Proceedings of the Indian Statistical Institute Golden

 Jubilee International Conference, eds. J. K. Ghosh and J.

 Roy, Indian Statistical Institute, Calcutta, 279-312.
- Huang, W.-T. (1984). Nonparametric isotonic selection rules under a prior ordering. <u>Design of Experiments: Ranking and Selection</u>, eds. T. J. Santner and A. C. Tamhane, Marcel Dekker, New York, 95-111.

I. REPORT NUMBER		BEFORE COMPLETING FORM
: 1	Z. GOVT ACCESSION NO.	3. RECIPIENT'S CATALOG NUMBER
Technical Report #87-24		
4. TITLE (and Subtitle)		S. TYPE OF REPORT & PERIOD COVERE
Isotonic Selection with Respect to a	Control:	Technical
A Bayesian Approach	•	rechnical
		6. PERFORMING ORG. REPORT NUMBER
7. AUTHOR(a)		
		Technical Report #87_24 6. CONTRACT OR GRANT NUMBER(*)
TaChen Liang and S. Panchapakesan		NO0014 04 0 07 7
•		N00014-84-C-0167
9. PERFORMING ORGANIZATION NAME AND ADDRESS		
Purdue University		10. PROGRAM ELEMENT, PROJECT, TASK AREA & WORK UNIT NUMBERS
Department of Statistics	· j	The second secon
West Lafayette, IN 47907		
II. CONTROLLING OFFICE NAME AND ADDRESS		· ·
		12. REPORT DATE
Office of Naval Research		June 1987
Washington, D.C.	J	13. NUMBER OF PAGES
4. MONITORING AGENCY NAME & ADDRESS(II dillerent fr	rom Controlling Office)	27
		15. SECURITY CLASS. (of this report)
		UNCLASSIFIED
	-	15a. DECLASSIFICATION. DOWNGRADING
	1	SCHEDULE
S. DISTRIBUTION STATEMENT (of this Report)		
7. DISTRIBUTION STATEMENT (of the abstract entered in B	Block 20, If different from	Report
	•	
SUPPLEMENTARY NOTES		
	. •	
KEY WORDS (Continue on reverse side if necessary and ide	ntlly by black sumban	
Subset Selection Companies with a c		
Subset Selection, Comparison with a Con Discrete and Continuous Exponential Fam	itrol, Isotonic P	roperty, Bayes Rule.
- Thornwood Exponential Fam	1111es .	,
		•
ABSTRACT (Continue on reverse side if necessary and iden	tily by block number)	
et $\pi_1, \pi_2, \dots, \pi_k$ be k experimental pop	ulations and	•
opulation. The π. are characterized		15 a chandand o
A TO SHALL BELLEVIOLE	v the associated	is a standard or a control
= $0,1,,k$. The θ_i of the experiment	y the associated tal nonulations	distribution functions F_{θ} ,
= 0,1,,k. The θ_1 of the experiment nown that $\theta_1 < \theta_2 < \cdots < \theta_k$. The value	y the associated tal populations a	distribution functions $F_{\theta i}$, are unknown; however, it is
Let π_1 , π_2 ,, π_k be k experimental population. The π_i are characterized by $=0,1,\ldots,k$. The θ_i of the experimental nown that $\theta_1<\theta_2<\ldots<\theta_k$. The values to select all the experimental population which θ_i	y the associated tal populations a ue of θ_0 may or mations that are sations	distribution functions $F_{\theta i}$, are unknown; however, it is may not be known. The goal
nown that $\theta_1 < \theta_2 < \dots < \theta_k$. The values to select all the experimental population which $\theta_1 > \theta_0$. Under a fairly generative (i.e., and the experimental population).	y the associated tal populations a ue of θ_0 may or mations that are seral loss functions	distribution functions $F_{\theta i}$, are unknown; however, it is nay not be known. The goal superior to π_0 (i.e. all π_i
or which $\theta_i \geq \theta_0$). Under a fairly generoperty (i.e. if π_i is colorately	ations that are seral loss function	Superior to π_0 (i.e. all π_i on a Bayes rule with isotopic
nown that $\theta_1 < \theta_2 < \dots < \theta_k$. The values to select all the experimental populator which $\theta_i \geq \theta_0$. Under a fairly generoperty (i.e. if π_i is selected, then a form convenient for applications.	ations that are seral loss function	Superior to π_0 (i.e. all π_i on a Bayes rule with isotopic

discussed. One of these loss functions is used to discuss applications to discrete (with Poisson example) as well as continuous exponential class of distributions.